@ i
VINAYAK CLASSES

Date :
Name : AbLID 5 TATE
Std. : Roll No. : Subiject : Marks :
Data ‘-
Atoms A ave at & covners aloms B at
the 6  dece  centres and  one aformm € ab
boc!j centre -
To ——Einel-—-2=
Lovmula of C-\f:j stelline com:pounoﬁ P
bolotion :-
Totel No- of ofoms of A = £ o B & 3
&
Total no. of afems of AB- [ e € 2 B
One a_:‘m.g(’ £ ot +he booﬂj centve .
The = unit cell conteing on€ ofom of A
P ar 44 afoms of 3 anc! one ofom of .
Hence the  Adovenvle of  the compound I's ABs <
Ans:- The formvla  of dhe cr:}«safalrf'ne CON‘i{)ﬂunJ /s
AB= C-




il

Dala
bee Shructfuve
vt cell = N2

bodlivm haos
<5 Wi of ~Ja atom s in  Ahe
[§6 pm

TCLC!"US Sy (sia) =
!

Atomic

of Nao = 23 o mol_
» /

Atomic _mags
23 =
6.022 % O mol

Auojcmfvo Nnumbex =z Na =
To FEingd 2-
1- _£€dae length = a - 1
v, J . 5 7
2. Jolome of vt cetl = o” = ¥
3. @ensfo'-:}: . 7
éo{u-f-flOn i
L. F-'Q,, bce Sffvuc‘)"vvfj
Yemain= NS ., o
4
¢, @ & 4e GeXin,
g WA 186 = 430 pm .
N3
T s ks 3 5 10"
o 3
2. Volume of vunil _cell - Qa
-8~ 3
= (4-3 1o )
-2
¢ a® : 39S x 107 em?
3 - Mass of 1 Ne altom = 23
6-022 7»':“::‘13
T
= 3-82 x (0O g
23

W
2X 882 = (O

iy

Mags of 2MNa  afoms
s F B0 2g.
J




@ frrre FoEm

VINAYAK CLASSES

XI-Xll [Science | Commerce] Date :
Name :
Std. : Roll No. : Subject : Marks :

Data :-

"

Density  of Niobivm CNb) CYJS"ch

£-5¢ 9 enid -
s : J
C-r:.j stalline structuve Is  bec.

Atomic  meags of Nb - 93 9 e
ﬂvojaafvo Avmbey = Nap = 6.022 = (0*2 mol
A ¥

To. i §e

Ftomic yvadivg of Niobilvm = ¢

60 fm‘t'on S

Ia bee unit  cell , there are & atomse ol

£

(ovners anod 1 adon of dthe boJJ centre-

<. Ne: oﬂﬁb afomg - L 3 g+ 1

g 248 = 3.

Mass of one  Nb atom - 93

£.022 x10*3

- g4y x 10%3q
|

-

Mags  of 2HNp atoms: 2x 1-544 % (g2

2

= 3.088 R (0?9 .
%,

Mass of wnit _cel/ = Mass of 2NbH  afemg

n

3-088 % (0 %9 -
74




£ a s nge /ensrfh of hee uvnit cell

Velume of ovnit  cell = a®

\]

Densr'flj Mags  of unit  cetl

Volome of unit  cell

das e Nacke x 0]

QS
B e 07
el
oy : 3:-088 7\‘(0#22
R. {g
' - 3
* a’ = 03¢ x102 cm
oy il 35! % "
_ . .»__ M ’/5
B8y (369 x ip =" )
— e -
i g = 3-3 x/o cm

1L s  Ihe vadive of {Nb atom, 4hen

$n  bee  Ghxfuve

8

— fg -
Y= \fg a v \_f__ﬂi w 3-3x{D - |- 42 X110 " cans
Y 4

-
= [ 43 x10 -m

—to q
- [43 X ]Jo x [0 Om

= 0‘143 om ~

———

Y: 0143 am .




|

Date  4-
ﬂengf'ly of Ay = 193 Kj dm3
Meolaxy masg = ("I?j priwl
Auci/cmcfro constent - Na = 6-022 10 . el
To. 4ind -
Gl e Hu - 1
60!0#0{: =
In  fece  vnit cell, theve ave 8 odomig of  Au
at R covnevs and 6  afomsg gt & _Joles
centyes -~
No- of HAu afoms in 4he onit _cell = [ o B4 | n &
g 2
= 4 atems
Mass  of 1 Au .otom . 193 « 3 2azmo’2}
: £ 022 x|o*?
e
<y

-21
Q

=

& x 3-23 xfo'?'
=

= Mm L of 4 Au  edomg
L = [-308 o X 10O
™/ v

st o Mlars e ot ot cell 2 208 x (0'2’3,
s 1308 o 107V g
=
Dengf%j of  dhe onk  cell
- Mags of unit  cel/
Volurme of ounit  cell
o = I-308 % (0”%'
a".’-.




S e xi0”Y - 1308 x 02"

of 19:3

e e x g2 dn’

a> = 67233 x (022 (m>

= 73 - |
a = Ce972 x102)"" = (63323 x102*)"3

a: 4.033 x10°° m
e vy g dhe yad!vg of Au gfem dhen
fee _vnit  cell,
rs. Q
2J2
N s %03 x (6% VY% x0T e .
2.2

-7 ]r :A*_.i _s:ﬁ'-wi pm

Ans - Mg{r N, Au  odom - (4q-2 pro .




D e Ao

VINAYAK CLASSES

DEGREE & DIPLOMA ENGINEERING
XI-XIlI [Science /| Commerce]

Date :
Name :
Sid. : Roll No. : Subject : Marks :
Date  :-
/f:tjpe of CTSSJGJ z d[‘cc
’Densi'fj of Au - J:= 9.4 E i =
60%:_ fE‘njrfh S q032.2 pem = 4-0722 =® to'gcm .
No- of Au afoms  [n Fee
uni't cell » 4
Toglnn’ ‘-
ﬁvo?ad'ro Nomber = Na = q
AoloHon -
Mage of Au atom : ﬁ_? g .
s U Na

No- QF_' g_ﬁu atoms  jn  Fec  unit  cell: z

= 4

D el coll = u o [93

Na

m’)o e b-’lc

VVelume un

i cell =

Clsc

~% S
(4.092 %10 ° )

: &3¢ X gk

Dens.-'r/b, of ouvnkt cell - gl = Mass  of wnit cel
Volume of unit ce(lf
194 - & ¥ {99 F Wa
6-25 x (0723
Np = “gX 197
(94 x 6-28 x 10*3
- B . 8.02 x 10> mot™




Doder 2-

Cu  enossdol has  {fec  shucture
éoﬂge Kzngfh SE onit cell = g = 3-8/3-:3-8?C!OP8cm,

To  Hfind :-

Radive of copper o = %50 Y

5o{u¥-r'an =

Tn  cage of fee  Shructure L

Y= a = 39x40% - 398x,58
il 2% 7 2% 1. 4|4
IT= 343 x 10" % cm |
¥ 1
Hence Tadfus of C_@‘proef( afom = ['343 X Lorg it
: 1343 A

Bns'- Raolivy _oFf i cdom = 1343 108y = 1:343 8




Data  :-

édge [(.ngffh = a: 288 pom = 2:88 x i Nl
Nensi RN Gt 0de) - o = 2.86 acm
g 3 J

6-022 % (0% mol”’

ﬁvo}qua pumbey -
Atemic mass  of fe = <6 3mol"
To {Lind :-

Tupe Bl  [adtice = T
- \/ ~

60{0‘#0” -
Mags 0)0 0nNe Fe atom = S6 s F.3x !0'2'3\7
6622 n (022
If there are 2z afoms in dhe voit cell, dhen
Mass of ovnit cell - Mase of 2z afoms = 2x q'Bch;-zjc}

- 3
a3= (2.88 x 108)

0

Volume of uvnikt  cell

. 228 % 102Y cpny’

d=  Mags of unit _ cell

"

Deng:'+j‘ _of whit  cell
Volume oF unit cell

286 «» = = 9.3 % 15723

2368 x (0%

2z 786 x 23-88 x ,-'0'2'9 - 2.0)

93 x 1023

- 9 .

The no: of atomc in_dhe  ovnit cell 1o 2

the C/r&mfa—/ lattice must  be of bee '1"\7,06 -

. ’@ux of 0#334&./ lattice 1o bec.




@ o Fonm

VINAYAK CLASSES

Date :
Name : 7
Std. : Roll No. : Subject : Marks :
Date :-
Cea Cruedat h‘f)f In 7[‘6 e Shructu e
Disternce betocen Hfwe f‘)f’ic)f)bourf?/o (s athomsg 2 234 p
R e
(- ﬂoﬂje !cngffh's: as ?
2- The volume of onit  cetlf - ?
8- The dicfance between  next ne{?bbo:;ﬁf:? odom = 9
Aolotion :-
- Tn  Fec  shueture L Cu afoms Fouch cu/anj +he
Fece Jr'aﬁpra./
-. Rogluse® of Cu odom = 234 = (/3 pm
e —~ A
L ' |
7 7




lensrﬁv of  foce c{l'ajonaf = 4w > 4x3 = 468 pp -
¥ a s eafl?e [ength , then
az.f- az = (468 )2 .'20.22 Cf-r’ég)z
a: 468 - 468 = 33| pm
vz [-414
a: 3.3 K!a'gcm-
2 Thé volume ar Fhe vnlt cell = a
§o (23 xi108)?
32

Y
I

= 23£.26 X (O

g ‘ =
SRR RE 2c x (o]

will  be a,é'onj e

2. The next ner'jhbowinj afom
‘-"ﬁ‘?;-b[r‘sﬂ}anm between  next nefjhbouvinj ofomng
: =in: 23! pm ¢
I- _Edoe lenath of 4he uvnit cell = 33/ pm .
v ' ~2 Y4 "'6
4, Volome ar# unlt cell = 36-26 X lo cm
3. The disfance  hetween  next nt’l'?hbovﬁnjr o P e
= 33 pm .




Date :-

Maous of ersvlcd > 2 9vam
TJ!ne of C.'rb'IS’J‘QJ = Fee -
bdae lenath = a - (00 pm = 100 X160 ty 2 [RAD " e -

J U g
Dengity -~ = iOqcm3

i

To -f.-'noo b
No. of afomg = ?
boloton  :- -
- 3
Vo l[ume of wnit cell = a®= Cx1t0 J

=
e L 07 o

Meags of _onit cell = Densfqizj X Volume

= lox [ x (072

=S8 o .
J

weigh I -cx' 2 g .
R :

%,

=4 ::f: .S [0—13 3 ergqﬂuj ConqLcdnJ 4 Q’/'Dn)_g

2o 23] Orgsd’-ed Con'fcu‘ﬂg p 2n - ¥x 1023 adoms

I % 1023

No. of afomg : Extogs';

R !




[o-

Doda -

Densityy  of crusted - ols V02 & ens 2

o o

v
Edoe  length  of unlt _cell -
v J

Altomic  _mags - §9 9 o i

o fLind *

No. of atomg j¥a) unit cétle gas ¥

Solotion :-

Mass  of ope  ofom - E7 = [-4gX forzzq

v

6:022 = 123

If  Fheve Qre 2 afoms  in the _unlt  celf . then ,

Mage of o't cott = Mass of 2 afoms = 25 [48%10 7%,

J

Volvme o Weais Bl cell - Y= (4.3 x 1072

"

fa

2:9¢ % 10722 cm3

Den sﬁj of gnfﬁ ge(! z Mess  of  onit cet/

Velome of wnit cets

o =

2 x['48 » (022

B » 0™

Be MM r0 g 7-9¢ x 10 °3 % Q.02

-4 8 x 10722 't 8 x 15722

*'J:Z:- L;-g ES,
[}

|
T

,473;_; No.  of odome |~ voit  celf 2 -




@ framw amr@m@
VINAYAK CLASSES

DEGREE & DIPLOMA ENGINEERING
XI-XIl [Science /| Commerce]

Date :
Name :
Std. : Roll No. : Subject : Marks :
n. Date :-
’649& of crystal [attice  of (u = Pec
Densr'f'f; af Cl':}fMLoJ - d= 8968 9 em 3
Molay __mouss of (o)

s M= 63-5’3 el

ﬁvoqacfw number - Np

8 B mig e o ma/ﬁi

Ne.” of (u  odoms

in  deece c'emﬂ're_cf unit celf> %

To Ffind =
Veolume g Coy vni b celf=- %
bolokion :-
Max s of ong | G« atom
2 Molaxy mags
- ?Mg S
A z #3.8 o |07%8
6022 x 0> 6027

-

/'Oﬁ(lf x {0“22' p

Mass of

vni k cell

[}

Mats of 4 (o otomg
L x 1-0SYy x10>2

n

2 G ole X (0-‘22‘”

v

1]

Deng;'fj of (e Meags of  onit  cets

Volum e okt wnit cell




/. Volume

of  unit cell

= Plees s of vnit cel/
Dengi'ty
—22 &
= :216 ¥ (O

& q6¢

O 4302 xlo *?

@802 x 10722 e

Pz Volume of unit cell = &4 702 )”o-z

3

(.m'B




/

‘Dd.'f‘m l=

Atomic _mngs of Al - 22 9 mo!l_
Mags off Al = (0g
p’-]voc‘a.dra Noembe~x = Na > £.022 X‘foza mo/ﬁ,
Pz(—v#:ﬁw of- At foms = T
To Lind ‘-
No. of Al ofems o 7
No. of on/t cellg : q
Solvdton !~
94 3'ram afom of Al = 229 Al __conteins
6022 x 10> Al otoms

lox g 022 X (023

- No  of A (h‘on'yq ;'rv, !Oj.
2%

2,
-~ 223 %(0°

In  Aec SJ'ruc'fvgaf __ecach vt cely tondedne

4 A1

A

cells = 223 x(g>

of wnit

L
2

= €289 x (o

<)

Al otoms = 223 x|o

ﬂ_ils:"’ No. of
BNt celly = L y¥ae ¥ lo™™




